DO NOW

5 less than 4 times the temperature 1s -15.
Find the temperature.
let v = ‘l'empe,mﬁure
Hy-5=-15
Ly =-15+5

Hx=-10
Y~ =tO The '\“e,mpe,mfmr@,
qg;- 15~ 5 degrees.




2.1 Word Problems

Procedure: 1. Read. Car&gﬂ (Take notes,
underling Kegworo\s diagrams.. )

% TdeMmC\( a variable.
(et "x=1)

3. Set up an equation.
4. Solve +he a%ua,JciDn_
5. Answer and check

*#*Sometimes you need to identify more than
one item with the same variable



Practice:
2C )

1. 12 mf)/r;_t?lan twice a number 1
Find the number.
led x=+he number
Z2x + 12 =5x
|12.=5x -2y
|12 =3x
2

= X
H=x

@ Nnmber —JST}

5 times the number.

I'-‘ ]




2. The larger of two numbers i1s 7 more than 5 times the smaller.
Their sum 1s 55. Find the numbers.

let x =smalle¢ 4
bx+7=larger=

X +BEx+r7=55

X+ Hx+77=55

bx+T7=55 S
QDX:55~—7 Ho4+77
K= ﬁ

o
X=8 The first = is &,
The larlofu# 15 H7.




3. The second of three numbers is 4 less than 5 times the first.
The third 1s 11 less than 4 times the first. If twice the first

1s increased by the third, the result 1s 25. Find the three
numbers.

oY x= 5"+
Sox— 4 =2"%a¢
Hx —1[=3 =

2(x) +(Hx—11) =25

2X+ H Y — | \:25
Ix+tdyn=2S+1) By-d  4x-1l
by.=3, 5(y-4 4 (-1

_ The ISt 5 is b.
X = The 27 # s 26.
The 3% 1 s 3.\




4. In a game, Bert's score was twice Jose's score. Their scores
added up to 90. Find each score.

let x=Uose's Score
2x = Bert's Score

X+2%x =90
3x =90
_40
=
X=30 2%
2 (30)
60O

—

JOSe\s Scave 'S A0O.
Rect's scove 15 §O.




5. James earns $2.20 less than twice Greg's hourly wage. It
James earns $16.50 per hour, what 1s Greg's hourly wage?

let x= Grf‘g's howrly wage
Ix—2.20=oumes hou.\r-ly wage

2x-2.20= 146 50
Ix=10.50+2.20

2x=18.70
o

y = 187
K =935

Grea's \r\ouur\\/ UOQ_SZ
L O 8 A35,
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